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1. 

Watch Video Solution

2 ( log ) 2 ( x − 3 ) + 2(x − 3) − 12 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_B8ecCqJKrbV2


2. Write the equation in exponential form

Watch Video Solution

3 = log3 27

3. Write the equation in exponential form

Watch Video Solution

( − 2) = loge( )
1

e2

4. write the equation in log form

Watch Video Solution

2− 3 =
1

8

https://dl.doubtnut.com/l/_5MUMeXRp8oqV
https://dl.doubtnut.com/l/_QzDM7qnP0V2q
https://dl.doubtnut.com/l/_claTJnndQ8EE


5. write the equation in log form

Watch Video Solution

( )
− 2

= 49
1

7

6. solve 

Watch Video Solution

−15 = − 8 ln(3x) + 5

7.  then find the values of

 and 

Watch Video Solution

log 2925 = 3.466125

log 29.25, log 2.925, log 0.002925 log 292500

https://dl.doubtnut.com/l/_claTJnndQ8EE
https://dl.doubtnut.com/l/_tmiVO7xDJo63
https://dl.doubtnut.com/l/_8IIq0qwbFbRc
https://dl.doubtnut.com/l/_s4BIp78PZ05Q


8. Find 'a' if 

Watch Video Solution

loga 324 = 4

9. Prove that 

Watch Video Solution

xlog y − log z. ylog z − log x. z log x − log y = 1

10. If , then prove that 

.

Watch Video Solution

= =
log a

b − c

log b

c − a

log c

a − b

aabbcc = 1

https://dl.doubtnut.com/l/_s4BIp78PZ05Q
https://dl.doubtnut.com/l/_yLBghK56jsnd
https://dl.doubtnut.com/l/_LdP6FiR4EHlT
https://dl.doubtnut.com/l/_bQjzYMIMEPcK


11. Solve 

Watch Video Solution

log(x + 1) = 2 log x

12. Show that

Watch Video Solution

log( ) = 2{x + + + ...}
1 + x

1 − x

x3

3

x5

5

13. Evaluate 

Watch Video Solution

log10 10000

https://dl.doubtnut.com/l/_EMQD0KhHKdK5
https://dl.doubtnut.com/l/_ndmFgiD80eQg
https://dl.doubtnut.com/l/_NrFkbLtEDoMh
https://dl.doubtnut.com/l/_3tYOL5f6nspy


14. Evaluate 

Watch Video Solution

log10 0.00001

15. Evaluate 

Watch Video Solution

log16 8

16. Evaluate 

Watch Video Solution

log2( )
1

8

https://dl.doubtnut.com/l/_3tYOL5f6nspy
https://dl.doubtnut.com/l/_QXMOxyXdEp6P
https://dl.doubtnut.com/l/_gUUAen06uPKU


17. Evaluate 

Watch Video Solution

log2 log2 log3 81

18. Evaluate 

Watch Video Solution

log2 log2 16

19. Evaluate 

Watch Video Solution

log2 √6 + log2√
2

3

https://dl.doubtnut.com/l/_RCJ3Z95Jlgzr
https://dl.doubtnut.com/l/_zDLrXnRgOwGQ
https://dl.doubtnut.com/l/_4PL8peudVTlV


20. Evaluate

Watch Video Solution

log 25 − log 125 + log 6251
2

3 log 5

21. Evaluate 

Watch Video Solution

log( )
8 × 4√5

81

22. Evaluate

Watch Video Solution

log 9 − log 3 + log 811
2

2 log 3

https://dl.doubtnut.com/l/_0dvrUibEDivZ
https://dl.doubtnut.com/l/_O7GsBch0DvmA
https://dl.doubtnut.com/l/_cgjOIpGUQf6r
https://dl.doubtnut.com/l/_RzZfyJ2Uw0Sn


23. 

Watch Video Solution

7 log( ) − 2 log( ) + 3 log( )
10

9

25

24

81

80

24. prove that

Watch Video Solution

log 2 + 16 log( ) + 12 log( ) + 7 log( ) = 1
16

15

25

24

81

80

25. Prove that

Watch Video Solution

loge √ = x + + + + ....
1 + x

1 − x

x3

3

x5

5
x7

7

https://dl.doubtnut.com/l/_RzZfyJ2Uw0Sn
https://dl.doubtnut.com/l/_upQ3jE8JvTXb
https://dl.doubtnut.com/l/_aAffOYlfH3Uu


26. Solve the equation

Watch Video Solution

log x4 − log x3 = log 5x − log 2x

27. Solve the equation

Watch Video Solution

log(x + 1) + log(x − 1) = log 3

28. Solve the equation 

Watch Video Solution

log(x2 − 5) − log x = log 4

https://dl.doubtnut.com/l/_ao1rXKHqhAHl
https://dl.doubtnut.com/l/_tBL61VqgO4ph
https://dl.doubtnut.com/l/_zoBwv33Hua0o


29. Solve the equation

Watch Video Solution

log(x − 1) + log(x + 8) = 2 log(x + 2)

https://dl.doubtnut.com/l/_zoBwv33Hua0o
https://dl.doubtnut.com/l/_9sBxuKdqd8zV

